Tuesday Maths

Equivalent fractions (2) —% o Match the equivalent froctions.
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o Shode the diograms to help you complete the |
equivalent froctions.
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Tuesday Maths

o a) Write the froctions in the correct place on the
sorting diogram.
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b) Are any of the boxes empty?

Why do you think this is?
Talk obout your answer with o partner.

(Answers below)
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o Find three ways to moke the froctions equivalent.
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o Evo ond Ron hove o boguette each. ’

The boguettes are the same size.
Eva cuts her baoguette into 8 equal pieces.

3 of my equal
pieces are equal to
& of Eva.

xe

How maony equal pieces hos Ron cut his boguette into?

Ron haos cut his baguette into D equal pieces.
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Tuesday Maths

o a) Write the froctions in the correct place on the
sorting diagram.
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b} Are any of the boxes empty?
Why do you think this is?

Talk obout your answer with o partner.

o Find three ways to maoke the froctions equivalent.
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The boguettes are the same size.

o Evo and Ron have a boguette each. M

Eva cuts her boguette imto 8 equal pieces.

3 of my equal
pieces are equal to

& of Eva's

How many equal pieces hos Ron cut his boguette into?
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Ron hos cut his baguette into equal pieces.
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